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SNAKE PATH PuzzLes 90 BY RODOLFO KURCHAN

Your goslin these puzzlesis to cre onsecutive path of numbers from 1 to 9 that starts and ends in the pink

ooHeES: :_"I'E pain sie

zgain.] The path advances from one number to

trie next horizontslly or verticzelly—never dizsgonally—and cannot cross itself.
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The gray souUEres 2r2 3OUEres Whers N2 £2Th FE3525—1N2Ti5, 2 numDerin 8 gray Do i3 2 numser that iz part of
the path. A nurnberin 2 white boxis 2 number thatis not part of the path. Further, there cannot be repested numbers
n the same row or column,

Can you find the path of the snzks in each puzzle? ANSWERS, FAGE BD
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